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1 KA O 30 O 30 2 4,2 0 /1.000([6 0 MAX | 150 89 | 1.685
2 NTT#E B A K O 30 0-3 2031105003 3/1.000]| 130 | 122 | 1.066
3 BEHIEXE ® 03 O 30 2 3.1 1,050(3 3 1.000| 125 | 135 | 0.926
4 LWhHhEEBlueWave 0-3 ® 03 1-3 3/3/0/3 00001 9 0.111] 182 | 249 |0.731
5 STO4 4 3-0 12 1/0/1.00(|3 0 MAX | 75 55 | 1.364
6 B¥7 )L 3Four Seasons O 31 112 1 0/1.000([3 13000 99 75 1 1.320
7 KBRA R ® 03 101 .0 1,0000|0 3 0000| 39 75 | 0.520
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TEIVIRER (NN ITFEYIED) INY TTE Y TRER
1o HR% 2 6 170 93 15 54.7 1[oR% 2 6 21 1 4 52.4
2 |®#7 )L SFour Seasons 1 4 107 49 9 45.8 2 | KBiRAR 1 3 6 3 1 50.0
3|sTO44 1 3 91 39 1 42.9 3[sTO44 1 3 9 4 1 44.4
4 |BHIEXRZF 2 6 171 67 9 39.2 4 |&#¥7 )L SFour Seasons 1 4 5 2 0 40.0
5|LvbEEBlueWave 3 10 301 109 35 36.2 5 [NTT#E B A KR 2 6 12 2 1 16.7
6 |NTTEE B AKER 2 6 184 58 16 31.5 5 [fBHITEXRE 2 6 12 2 1 16.7
7 |RBRAR 1 3 T 22 1 28.6 T|WwhEEBlueWave 3 10 19 2 8 10.5
TRYREER (%) =FR-TH*100 Ny I TRYYREE (%) =HFR--ITHx100
% ~ 2 2 ha
1T{WwhEEBlueWave 3 10 301 36.2 107 2 109 1/sTO44 1 3 10 3.33
2|10HR% 2 6 170 54.7 82 " 93 2| R% 2 6 16 2.61
3 |BHIEKRE 2 6 17 39.2 65 2 67 3 NTTEE B A KR 2 6 10 1.67
4 INTT#E B A KRR 2 6 184 31.5 56 2 58 4 |&%7 IV ZFour Seasons 1 4 6 1.50
5 [E¥E7 )L SFour Seasons 1 4 107 45.8 47 2 49 5 | KBRA R 1 3 3 1.00
6([sTO44 1 3 91 42.9 35 4 39 6 |fBHITEXRZF 2 6 5 0.83
7 |RBRAR 1 3 T 28.6 19 3 22 T|WwhEEBlueWave 3 10 8 0.80
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3|9H% 2 | 6 |16 | 8 |48 | 12| 116 3 |7 L SFour Seasons | 1 | 4 | 58 | 20 | 18 | 20 | 50.0
4|®#7LZFour Seasons | 1 | 4 | 98 | 8 | 16 | 4 | 11.2 4 TR 2 | 6 [ 114 | 37 | 33 | 44 | 469
5 | TR 2 | 6 [126] 9 |37 23| 99 5 | KBRHZ 1l 3 e | 17| 23| 26 | 432
6|LbEEB I uewave| 3 | 10 | 186 | 15 | 53 | 40 | 9.8 6|sTo44 1| 3 |50 | 13| e | 23| 400
7| KBRH R s e | o 7| 3| 24 7 |NTTE B AKX 2 | 6 |103| 20 | 28|55 | 330
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1[h— ZE=th 7 RA 2 6 24 16 1 66. 7 1 [i&%E Kig Wha# 3 10 42 4 4 50
2 |F/#y E=N RA 2 6 50 30 3 60.0 2 [luA #hE Wha& 3 10 43 0 2 45
3 (AP HRAE 2 5 37 21 3 56.8 3 |Z@ #A BHIX 2 6 33 2 5 40
4 IMNER HETILS 1 4 23 12 4 52.2 4 |/ £ yRA 2 6 30 2 2 34
5 [#iR ZEER HETILS 1 4 20 10 2 50.0 5 |@EH i R4 2 5 21 1 2 24
5 [Hl B— HETILE 1 4 12 6 2 50.0 5 |&E ®i NTTWO 2 6 21 3 0 24
71|22 HME STO44 1 3 25 12 2 48.0 7 |Hh— Eth iR 2 6 16 5 0 21
8 (=HE #A BHIX 2 6 | 33 3 46.5 8 | KB REHXE BHIKX 2 6 17 3 0 20
9 [Nk WME STO44 1 3 26 12 3 46.2 9 | K/I\K & HETILE 1 4 14 3 1 18
10|764E Kig Wha# 3 10 95 42 8 44.2 9 |KfE HE— NTTWO 2 5 16 1 1 18
1M(ER £E HETILS 1 4 17 7 1 41.2 1{NE HE STO44 1 3 12 2 3 17
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1 |FR%0 AR%S STO4 4 1 3 3 1.00 1 iFE 8E STO44 1 3 13 3 7 3 30.8
1[IWT —# STO44 1 3 3 1.00 2 |ER BM STO44 1 3 7 1 3 0 25.0
3 [h— Eth HRAE 2 6 5 0.83 3 |EM B NTTWO 2 6 24 3 14 3 24.0
4 |KI\K & HETILS 1 4 3 0.75 4 |F@E BAE NTTWO 2 6 18 2 9 1 22.2
5 [FNl &FE KA R 1 3 2 0.67 5 |3RFN RAR#C STO44 1 3 16 2 7 1 21.9
5 IiF ME STO44 1 3 2 0.67 6@ #A BHIX 2 6 22 5 6 7 21.6
1|XKE &EE BHIKX 2 6 3 0.50 7 (&K Fst Wha# 3 10 M 6 17 7 20.7
1|=E = NTTWO 2 6 3 0.50 8 | EAE STO44 1 3 14 1 8 1 19.6
7 |Fm@E BAE NTTWO 2 6 3 0.50 9 |l B— HETILE 1 4 18 3 4 2 19.4
10|76 4E Kig Wha# 3 10 4 0.40 10|@% iR 2 5 23 2 8 0 17.4
11(=@E #A BHIX 2 6 2 0.33 MRS N RETILE 1 4 13 2 2 1 17.3
1|5rl F1= HRAE 2 6 2 0.33 12|57/ £ R4 2 6 20 2 7 4 13.8
11|F/# E=0 g KA 2 6 2 0.33 13| K/I\K & HETILE 1 4 17 1 5 0 13.2
11 (W st K AH A 1 3 1 0.33 14(=pll F1= g RA 2 6 24 1 9 1 12.5
M|EE HMA STO44 1 3 1 0.33 14|Kf8 F— NTTWO 2 5 14 1 3 0 12.5
1y bHEYDITOYIRER (K) =Ba-Hi5EEY b H—TMEE (%) =(H—ERT—ZXAX100+FNE x25— kA x25) —#TH
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1 (%0 $REA 7 1R4A 2 6 25 11 8 6 60.0
2 |#EF it WhaZ 3 10 54 24 16 14 59.3
3 |iEE KiE Wha# 3 10 95 42 23 30 56.3
4 INRER T HETILS 1 4 17 6 7 4 55.9
5 [#iR ZEER HETILS 1 4 1 5 2 4 54.5
6 [K/I\K ## HEFILE 1 4 14 5 5 4 53.6
1EN && K AH R 1 3 15 4 8 3 53.3
8 [k ME STO4 4 1 3 19 8 4 7 |52.6
9 luO #HE WhaE 3 10 52 19 16 17 51.9
10({@H A 2 5 11 2 7 2 50.0
11(=@E #A BHIX 2 6 25 8 7 10 | 46.0
12(A8%0 AR#C STO44 1 3 1 3 4 4 45.5
13|XKE REHE FBHIKX 2 6 28 8 9 11 44.6
14|28 B KIRAH R 1 3 17 3 7 7 38.2
15(&m ™ NTTWO 2 5 17 4 4 9 35.3
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1set 2set 3set 4set bset 1set 2set 3set 4set bset
13 5 1719 5 17 19 5 9 JIE E B OB IR & 4 15 34 15 214 15 1
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REE (%) 53.9 89 48 8 T2 71 22 1 28.6 REE (%)
REE (%) 46.7 15 7 3 (RN O TAYY) 6 3 1 50.0 REE (%)
v FEH(X) 2.67 — 8 — Jawvy — 3 — 1.00 v FEHX)
SR E (%) 10.3 13 3 6 H—7 41 0 3 2.4 SR E (%)
I E (%) 60. 5 — —_ —_ H—JLi—7J —_ — — 43.2 I E (%)
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1) 1)
2 | L %0 4 3L L L 00 0 - - 0,00 - 0 - 0o/olo o - 105 4 70.0
5 H— & 3/m mm 129 0 750 300 [0 0 0 - 5 1.67 |6 0 0 1 42 [0 0 0 -
9 A 5 2 | 17,8 2 471 40 [1/0]l0] 00 |o - 1m0 0 4 91 412 50.0
10 BE EA 3 00 0 0/0/0 - - 0/0/0 - 0 - 4lo0fof2| 125 Jo 0 0 -
12 5 4 3 mEm 842 500 .33 ]0 0 0 - 103 [4]0]0]1 6.3 [0 0 0 -
13 ST il 3 mEnE 110 0 00 000 [1/0]0| 00 |oO - 1 1,0 8 188 [0 0 0 -
15 Wit 3+ 1 m 820 250 200 |0 0 0 - 0 - 9 0 0 2 56 |3 1 1 500
16 R OES 2|0 m} 0/0/0 - - 0/0/0 - 0 - 3.0 1.0 -83 |[o]olo -
17 | ¢ FEB 5 2/m m 7.5 0 7.4 250 [0 0 0 - 0 - 9 1.2 4 167 |11 4 5 59.1
18 FIE £33 1 [ M3 2 21.3 300 |10 1 0.0 [0 - 3.0 1 0 -83 |10 4 4 60.0
19 R £ 3/m mm 25 17 2 68.0 567 |12/ 7 2 583 |2| o067 [8 1 2 2 125 [o|o]o -
F—L&E 3 89 48 8 53.9 16.00 (15| 7|3 | 467 |8 267 |73|3 |6 |24 103 |38 15 16 60.5
WSty b TEvY AR ITEYY) Jovy $—7 $=JL—7
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KIRA R B, s s slursx B Plnex 2|8 Y lumxan 2 lzmwm F
rd HRR = T [BR R g2 (R z |HRRE F |¥ é é =
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1 TR fE—ER 2 O m 6 2 3 333 .00 [0 0 0 - 0 - 41011 0.0 [13/3 3 346
3 | C AN EE 3 M H N 9 12| 1.1 033 [1/0/0/ 00 |2 o067 [4/0/0/0| 00 |15 4 8 533
4 Wt X 3 M H N 31 94 290 .00 |5 3 1 6.0 |o - 2.0 0/ 3 63 [2 0 0 00
5 RE RE 3/'m m O 0/0/0 - - 0/0/0 - 0 - 3.0 0 0 00 |2/0/0] 00
6 hiE FE 3 mE N 10,30 300 .00 |0 0 0 - 0 - 5.0 0 0 00 |[o]o]o -
7 =@ —f 1 [ 4101 0.0 000 (000 - 0 - 2.0 0 0 00 |[1/0]0] 00
| L RE H# 3 L L L 0/0/0 - - 0/0/0 - 0 - olojo o - 1737 382
13 [L @5 X% 0
14 Tl B 1.0 0/0/0 - - 0/0/0 - 0 - 10 1 0 -250 [o]o]o -
15 WLFE s 3 E m 5020 400 0.67 [0/0 0 - 103 [6]0]0]1 42 [0 0 0 -
16 MZH BE 1 O 0/0/0 - - 0/0/0 - 0 - 10 1.0 -250 [ofolo -
17 Puak I i 0
20 FN E— 0
21 KN #8 2/m m 12,5 1 #.7 250 |0 0 0 - 0 - 3.0 0 2 167 |16 7 5 59.4
F—LEE 3 7722 11 28.6 733 |6 3 1 5.0 [3]| 1.0 |4 0 3 7 24 |e6|17|23| 43.2
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1set 2set 3set 4set bset 1set 2set 3set 4set bset
12 18 16 3 12 18 12 18 16 INL B OB JEHE X 121 121 112
an 3) (13) B 4 a—F
310 810 8 16 3 10 8 15508% B B 0% 1 8% 10 16 1210 16 12 10 16 12
an @1 a1 2 B = 1
- - - - - SALTI ﬁ% kg 1?3 - -
SF TH B EY P i Blcf TH /e EY SHi
REE (%) 34.7 75 26 6 T2 96 25 13 26.0 REE (%)
REE (%) 0.0 5 0 1 (RN O TAYY) 12 0 6 0.0 REE (%)
v FEH(X) 3.00 — 9 — Javy — 2 — 0.67 v FEH(R)
SR E (%) 12.3 13 5 7 H—7 49 3 12 10. 2 SR E (%)
AR INE (%) 29.7 — —_ —_ H—JLi—7J - — — 54.7 AR INE (%)
F—LT+IF 4 — 35 — HEDIR — 17 — 10 F—LTFIE
148 75 13 &5t 145 47 25
Higt Y b 759 (RN ITEVY) ovy H$—27 H—JLi—7
NTT#E B A KB Hl RS A S RS A = E I 1§ % % 2 =2 g g 2
B e slBRR E L |RRR ER L |RRRE I RDY Z
1] 2]
2 | L KB B— 3L L L 000 - - 0,00 - 0 - 0o/olo o - 9.3 3 500
3 KA E— 3/m mm 30 13 3 43.3 433 [1]0l0] o0 |1 03 |7/1]/0|2| 2.4 JO 0 0 -
8 WA A 3/m mm 1.0/ 0 00 000 [1/0]0] 00 |oO - 9.0 0 1 28 [0 0 0 -
10 AR it 3 mE N 6 1.1 167 0.33 (000 - 103 [9fo|1|3] 56 |0 0 0 -
1 RE *E 3 00 0 0/0/0 - - 0/0/0 - 103 [2/0f/0f0] 00 JO 0 0 -
12 EE & 3 mmEm 820 250 0.67 [0/0 0 - 0 - 163 310 297 [19 1 7 237
13 & B 2 oo 2101 0.0 0.00 [1]0]1 0.0 |0 - 2.0 0 1 125 |1 0 1 500
16 =iE B 3 mmEn 186 1 333 200 |2 0 0 00 |[3] 10 |50 2 2 00 |6|1]|1] 250
17 T 3 0
18 FE HE 3/m mm 10 40 40.0 .33 |0 0 0 - 30 100 |11t 4 159 [2 0 0 00
21 | C it FiE 1 m} 0/0/0 - - 0/0/0 - 0 - 2.0 0 0 00 |o]lo]o -
F—L&E 3 7502 6 347 8.67 |5 0 1 0.0 [9 300 |73 5 7 23 123 |[37 5 12 29.7
Higt Y k Vi (RN ITEYY) Jovy =7 H—JLi—J
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WpaEBiuewave (H ., o, ol ex B Plnex 2|8 Y lumxan 2 lzmwm F
rd HRR = T [BR R g2 [R z |HAR=sE F |#¥ . =
t5 14 B R
1| C o #E 3 M E m 28 8 7 286 260 |2 0/ 2 00 |o - 9.0 3 3 00 |13/7 4 692
2 @ g% 3/m mm 730 429 .00 |0 0 0 - 1 03 |[8|ofo|5| 156 |4 1 0 250
4 R E 0
10 % Wt 3/m mm 12,31 250 .00 |10 1 0.0 [0 - 9 0 2 1 -28 |13 7 1 517
1 5k FOM 3 mE N 183 2 167 .00 |60 2 00 [0 - 102 1,7 30 [1 0 0 00
12 Bk KK 3 mE N 28 8 3 286 267 |3 0 1 0.0 |1, 03 |7 1 5 2 36 |3 14 7 530
16 =4 BiE 3 mEm 3.0 0 00 000 (000 - 0 - 6 0 1 2 42 |ojolo -
F—LEE 3 96 25 13 26.0 8.33 |12, 0 6 00 |2| o067 |49 3 12 20 102 |64|20|12| 547
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TRYVRERY (F) =GR-dHEty b
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#HE 320 JURY : F—L b | R 1 2 3 4 5 &t
BASARBERE : 10:00 * #®: ZTHA &7 KRR 3 2 25 25 25 75
wreEf . 1101 B OB’ BB OBEE BHIEXZE 0 1 17 20 13 50
HEmM - 01:01 ¥EE : it 8§ A &BFRI| 00:18 1 00:20 | 00:17 00:55

JRA Vs EHIEXY
1set 2set 3set 4set bset 1set 2set 3set 4set bset
19 5 1719 5 17,19 5 9 hE mEF B R EA —H 12 3 17,12 3 1712 16 8
(10 a—F
9 6 13 9 6 1318 6 13 28508 B " Of% 1 Bx 1T 6 11,1 6 11,18 7 11
(16) a0 (7) @) 4 B = 1
Z Z Z Z Z BALTY - - Z - -
SF TH B EY P i Blcf TH /e EY SHi
REE (%) 55.6 81 45 7 T2 89 33 1 37.1 REE (%)
REE (%) 66. 7 6 4 1 (RN O TAYY) 6 0 1 0.0 REE (%)
v FEH(R) 2.67 — 8 — Javy — 1 — 0.33 v FEH(R)
SR E (%) 13.0 13 5 6 H—7 52 1 1 2.9 SR E (%)
AR INE (%) 51.3 — —_ —_ H—JLi—7J —_ — — 48.5 AR INE (%)
F—LT+IF 2 — 17 — HEDIR — 15 — 5 F—LTFIE
154 75 13 &5t 141 50 12
Higt Y b 759 (RN ITEVY) ovy H$—27 H—JLi—7
A i I M v s % |a 5 Tesn 2 a3 P m
’ B e slBRR E L |RRR ER L |RRRE I RDY Z
1] 2]
2 | L %0 4 3L L L 000 - - 0,00 - 0 - 0o/olo o - 15 6 4 53.3
5 H— & 3/m mm 12,7 1 583 233 |0 0 0 - 0 - 14,0 0 4 7.1 00 0 -
6 | C &5 MW 3/m mm 963 667 200 |0 0 0 - 5 1.67 |8 1 1 3 188 [0 0 0 -
7 =M & 2 oo 0/0/0 - - 0/0/0 - 0 - 2. 1,0 1 625 [o]o]o -
9 B 3 3 mEm 20 13 1 65.0 433 [1]0]1 0.0 103 [12/2/0/|4| 250 |7 1 5 500
10 BiE EA 2 oo 0/0/0 - - 0/0/0 - 0 - 2.0 0 2 20 [o]o]o -
13 ST 3 mEnE 1.0/ 0 00 000 (000 - 2 067 |8 0 1 1 0.0 [0 0 0 -
15 it Fx 0
16 R OES 1.0 0/0/0 - - 0/0/0 - 0 - 4lo0fof2| 125 Jo 0 0 -
17 M 5 2/'m m 1361 46.2 300 |11, 0 1000 |0 - 7.0 011 0.0 [12/5 3 542
18 FE £5 1 ] 1.0/0 00 0,00 (000 - 0 - 41011 0.0 [6 2 1 4.7
19 R £ 3/m mm 25 13 1 52.0 433 (4130 7.0 |0 - 1212 5 146 [0 0 0 -
F—L&E 3 81 45 7 55.6 1500 |6 |41 | 667 |8 267 |[73/5|6|24| 130 |40 14 13 51.3
Higt Y k Vi (RN ITEYY) Jovy =7 H—JLi—T
; L ; € Pk
BHTERS B, s s slursx B Plnex 2|8 Y lumxan 2 lzmwm F
1] 2]
1 935 EAER 2/m m 6 2 0 333 .00 [0 0 0 - 0 - 6 0 3 2 -42 0o -
3 | ¢ EE 2/m m 0/0/0 - - 0/0/0 - 0 - 7.0 0 1 3.6 0olo -
4 HE RF 0
6 it K 2/m m 5.2 0  40.0 .00 |0 0 0 - 0 - 6 0 0 2 8.3 115 6 727
7 A+E 1 1 [ 2010 500 .00 |0 0 0 - 0 - 2.0 0 1 125 |5 2 2 600
8 &3k i 1 [ 1.0/ 0 00 000 (000 - 0 - 2.0 0 0 00 |[o0o]o0]o -
9 | L i B 1 L 0/0/0 - - 0/0/0 - 0 - olojo o - 713 3.7
1 KB BE 3 mEm 27 10 0 37.0 333 |3 0 0 00 |o - 100 23 2.5 |16 7 4 563
12 =@ #A 3 mEm 39 16 1 385 500 |3 0 1 0.0 1033 8|14/ 3.1 |13 3 4 385
13 | L %5 #3% 2L L 0/0/0 - - 0/0/0 - 0 - olololo - 14 4 2 357
14 BEX BA 0
16 =R B 1 [ 0/0 0 - - 0/0/0 - 0 - 2.0 2 0 =250 |[1]/0]0| 0.0
17 RE BN 2/m m 820 2.0 .00 |0 0 0 - 0 - 7.0 0 2 7.1 00 0 -
18 BT hA 1 [ 11,0 100.0 .00 |0 0 0 - 0 - 2.0 0 1 125 [o]olo -
F—LEE 3 89 33 1 3.1 11.00 [ 601 0.0 1033 [s2/1 11|13 29 |67 22 21 485

XLy bY—9 . B=RA—T 1T AUN—

O=xXKEF L=UAD

TERYYREE (%) =1FR-ITHx100
P—THRE (%) =(H—EXIT—Xx100+3)F x25—% A x25) +iTH

TRYVRERY (F) =GR-dHEty b

TRy IREARR (K) =BR+HBEY b
H—TLI—THME (%) = (RIE]x 100+ [R] x50) +TH
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R 320 JURY : F—L byb | R 1 2 3 4 5 | &5t
BHtARERE :  11:40 F* #|: EE HE NTTEE B A KR 0 1 13 23 19 55
HRTER :  12:51 B B’: XA KT STO44 3 2 25 25 25 75
HERRM . 01111 HER: MEAE EIT SAEERI| 00016 | 00:27 | 00:22 01:05

NTTH B A KRR VS STO44
1set 2set 3set 4set bset 1set 2set 3set 4set bset
18 16 21 13 18 16 13 18 16 WE EE = BH S 5 8 2 5 8 2 5 8 2
SEE a—F (16)
12 3 1012 10 21 12 10 21 1R 18R B " 1R508X 4 9 6 4 9 6 4 9 6
(13) asy an 3 as an 3 B = 2 15 (10) 15) (10)
o | w0 | tim |- i 54 LT T DR i i
B T8 B/a E B fii B tE T /e EY SHi
REE (%) 29.4 109 32 10 TRy B 91 39 11 42.9 REE (%)
REE (%) 28.6 1 2 0 (RNYITEYY) 9 4 1 44.4 REE (%)
v FEH &) 0.33 — 1 — Javy — 10 — 3.33 | v FEH@E)
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